	
	EA input 
	

	1
	Initial lot  size
	0.01

	2
	[bookmark: _GoBack]Open order Profit reset at every 
	1 USD

	3
	Standard deviation Period
	100

	4
	Standard deviation shift
	0

	5
	Standard deviation applied to 
	Close price

	6
	Standard deviation method 
	Simple 

	7
	Moving average period 
	100

	8
	Moving average shift 
	0

	9
	Moving average applied to 
	Close price

	10
	Moving average method 
	Simple 

	11
	Price to be considered 
	Current price/ Closed Price

	12
	Use triangle method
	Yes/No

	13.
	Use fixed level trading method
	Yes/No

	14
	Initial Gap between Buy - Sell orders (points)
	100 

	15
	distance b/w  Buy to Buy  or sell to sell is ( Points)
	100

	16
	Use incremental lot size
	Yes/ No

	17
	Use multiplication  lot size 
	Yes /No

	18
	If yes multiplication factor 
	2

	19
	Magic number
	4568989



When standard deviation value crossed above Moving average find that bar high and low 
Then mark the high and low price of that bar, 
If the current price or closed price crossed above high open a buy trade,
If the current or closed price crossed below the low price open a sell trade.
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All order should follow the logic of buy, sell, buy, sell, buy, sell
Or sell, buy, sell, buy, sell, buy, sell
Initial Gap:
After first  buy order open if the loss reached 100 points then open a sell order


Triangle Method
Based on the first order and lot size, order should be open at when EA launch,
Say buy order is open with a lot size of 0.01, that buy order should be closed when profit reach 1USD, 
and if still  Std value above the MA again open a Buy order again.
any new order to  open check STD above MA.
But if not reach the profit and reach the loss 100 points (Initial Gap between Buy Sell orders (points)) open the Sell trade with 0.02 lot size. 
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Distance b/w  Buy to Buy  or sell to sell:
After first buy order opened say at the price 100.100 then if  loss of 100 points reached at the price 100.00 the sell order opened and again if buy to open at the price of 100.200( 100 points to be added from previous Buy order) consider buy open at the price of 100.200 next sell to be open at the price of 99.900( 100 points to be reduced from previous sell order)

Fixed level Method
In fixed line method first order price is to fixed 
Say buy open at the price of 100.00 then next sell to be open at 99.900 (gap between buy and sell), and again next buy to be open at 100.00, next sell to be open at 99.800 (Distance b/w Buy to Buy  or sell to sell is 100) hence from previous sell 100 points reduced,) next buy is at the price of 100.00, sell at the price of 99.700

[image: ]


When launching the EA it should consider the first trade as mentioned in EA input after that which the last trade which made the profit should be continue as a first trade.
In chart box
Mark the high and low price of the Bar.( When Std crossed above MA)
It should show the following contents.
Open Buy orders:
Open Sell orders:
Open Profit/ Loss:
Total booked profit:


Lot size calculation: (incremental lot size and multiplication factor  is off)
If initial lot size as given 0.01 means from 2nd trade onwards it will be changed as 0.01*2= 0.02 lots
If initial lot size as given 0.02 means from 2nd trade onwards it will be changed as 0.02*2= 0.04 lots
If initial lot size as given 0.03 means from 2nd trade onwards it will be changed as 0.03*2= 0.06 lots


Lot size calculation: (incremental lot size is on)
If initial lot size as given 0.01 means from 2nd trade it will be changed as 0.01+.01= 0.02 lots, 3rd trade 0.02+.01=0.03 lots, 4th trade 0.03+.01=0.04 lots.
Incremental lot size Formula is = previous lot size + initial lot size
When opening the trade previous lot is 0.00
 Hence when open 1st trade= 0+.01= 0.01 lots
When opens 2nd trade     = 0.01+.01=0.02 lots
When opens 3rd trade    = 0.02+.01= 0.03 lots
USE multiplication lot size : Yes
Multiplication Factor : 2
First order  lot:0.01
Second order trade :2*.001=.002
Third order lot size : 2*.002=0.004
Fourth order lot size : 2*.004=0.008

Note:
If I choose both method ( triangle and fixed level) as Yes, it should warn to choose any one method 
If I choose and both yes (incremental and multiplication lot) it should  make warn sign to choose any one method 
When open orders profit reached 1 usd then close all the trades, and  check the std above MA if  yes open the last trade which is the reason for book profit.
If std below the MA don’t open the trade, wait till std above MA and Mark the High low and open the trades accordingly.
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